	
[image: image1.png]


 Autograph and the Binomial Distribution
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 Open a new Statistics Page

On the Statistics tool bar select:
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 Enter Probability Distribution

Select ‘Binomial’ from the menu that appears
	[image: image4.png]Select Probability Distribution
Distrbulions
€ Rectangular Discrete]

€ Restangular (Continuous)

ol

 Paisson

[

 Geamelric
© User
 Normal
(]






	In the next menu that appears make your selection of parameters ‘n’ and ‘p’



	Conditions for a Binomial Distribution:

· Fixed number of trials (n)

· The trials must be independent

· Only two outcomes (success or failure)

· Probability of success (p) is constant.
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	Click OK and then [image: image6.png]


 Autoscale 

As well as the graph the mean and variance are also given – best viewed in the ‘Status Box’:
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 Use the Probability Calculations button to add an adjustable ‘slider bar’ to the graph. 
The example shown here confirms:

P(8≤X≤9) = P(X=8) + P(x=9)

              = 0.2128 + 0.1419
              = 0.3547
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